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. SECTION-A
estions are

.Note:Objective type questions. All qu
e (10x1=10)

compulsory
Q.1 Define plastic material. |
Q.2 Unitofforce |
Q.3 Give any two examples of ductile material.
- Q4 UnitofBending Moment
Q.5 Unitofstrain
' . Q.6 Brittlenessis opposite to _
Q.7 A retaining wall is subjected to pressure due
to '
Q.8 Inabeam,deflectionis
9  Define Rankine’s formula.
310 Ifn < (2)-3), then the frame will be. .
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SECTION-B

Note: Very short answer type questions. Attempt an
ten questions out of twelve questions. (10x2=20

Q.11 Define shearforce.

Q.12 Define perfectframe.

Q.18 Definelimit of proportionalitly.

Q.14 Define netural axis.

Q.15 Explain simple bending. ;

Q.16 Explaih Mohr's theorem.

Q.17 Define Principle stress.

Q.18 Define point of contra flexure.

Q.19 Define shear strain.

Q.20 Write the formula for extension of a uniform bar
4

due totensile load.

Q.21 Define Hook's law.

Q.22 Define elastic limit.
SECTION- C

Note* Short answer type questlons Atternpt any eight
questions out of ten questions.

Q.23 Explain types of strain.

Q.24 Explain stress-strain diagram.
Q.25 Explainimpacttest.
Q.26 Explain different types of supportin beam,
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(8x5=40)
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Q.27

Q.28

Q.29
Q.30
Q.31

Q.32

Note:

Q.33

Find the M.O.l of arrec lar s
cm about honzantat axis pa
centroid.

A bar of 40mm diameter is subjecte
100 KN. The measured extension
length of 250mm is 0.1mm and cl
diameteris 0.005mm. Calculate. =

a) Young'sModulus b) Poission
c) Bulk modulus.
Explain classification of columns.
Whatis passive earth pressure.

Draw the shear force and bending n
diagram of a cantilever beam can'ymg a p )
atthefree end.

Explain limit of proportionality with nea{;dia: -
SECTION-D

Long answer type questions. Attern M
questions out of four questions.

Draw S.F.D and B.M.D for the bea

fig. (i)
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i - y-x axis and y-y
- Q.34 Find the moment of interia a'b(?_lt )((ii;( @ ;
' axis of the section as shown infig.
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Fig-(ii)
Q.35 Find the forces in all the members of the truss
shown in fig (iii) by method of joints.
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Q.36 Using Euler’s formula, Calc
stresses for a series of Struts

ratio of 40,80 and 120

ulate the crippling

having slendermess
under the fo_llowing




